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Note :

Paper — 1
PEECER |

This paper contains Sixty (60) multiple choice questions, each question carrying two (2) marks.
Candidate is expected to answer any Fifty (50) questions.

In case more than Fifty (50) questions are attempted, only the first Fifty (50) questions will

be evaluated.

e T VAT H WIS (60) TgfThedid U & | T U9 % &l (2) H T |

o 3T I BT H U= (50) TR H FHWIAT |

o AR T (50) T e UeAT o IR 5T @ U u= (50) U9 & S S |

The English word ‘Communication’ is
derived from the words

(A) Communis and Communicare

(B) Communist and Commune

(C) Communism and Communalism
(D) Communion and Common sense

Chinese Cultural Revolution leader Mao
Zedong used a type of communication to
talk to the masses is known as

(A) Mass line communication

(B) Group communication

(C) Participatory communication

(D) Dialogue communication

Conversing with the spirits and
ancestors is termed as

(A) Transpersonal communication

(B) Intrapersonal communication

(C) Interpersonal communication

(D) Face-to-face communication

The largest circulated daily newspaper
among the following is

(A) The Times of India

(B) The Indian Express

(C) The Hindu

(D) The Deccan Herald

The pioneer of the silent feature film in
India was

(A) K.A. Abbas

(B) Satyajit Ray

(C) B.R. Chopra

(D) Dada Sahib Phalke

Classroom communication of a teacher
rests on the principle of

(A) Infotainment (B) Edutainment

(C) Entertainment (D)Power equation

The missing number in the series :
0, 6,24, 60, 120, ?, 336, is
(A) 240 (B) 220 (C)280 (D) 210
A group of 7 members having a
majority of boys is to be formed out of
6 boys and 4 girls. The number of ways
the group can be formed is

(A)80 (B) 100 (C)90 (D) 110
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10.

11.

12.

13.

The number of observations in a group
is 40. The average of the first 10
members is 4.5 and the average of the
remaining 30 members is 3.5. The
average of the whole group is

(A) 4 (B) 152

(©) 15/4 (D) 6

If MOHAN is represented by the code

KMFYL, then COUNT will be
represented by

(A) AMSLR (B) MSLAR

(C) MASRL (D) SAMLR

The sum of the ages of two persons A
and B is 50. 5 years ago, the ratio of
their ages was 5/3. The present age of A
and B are

(A) 30,20
(C) 38,12

(B) 35,15
(D) 40, 10

Let a means minus (-—), b means
multiplied by (x), C means divided by
(+) and D means plus (+). The value of
90D9%9a29C10b2is

(A) 8 (B) 10

<©) 12 (D) 14

Consider the Assertion—I and Assertion—

IT and select the right code given below :

Assertion—1 : Even Bank-lockers are
not safe. Thieves can break them
and take away your wealth. But
thieves can not go to heaven. So
you should keep your wealth in
heaven.

Assertion—II : The difference of skin-
colour of beings is because of the
distance from the sun and not
because of some permanent traits.
Skin-colour is the result of body’s
reaction to the sun and its rays.

Codes :

(A) Both the assertions-I and II are
forms of argument.

(B) The assertion-I is an argument but
the assertion-II is not.

(C) The assertion-II is an argument
but the assertion-I is not.

(D) Both the assertions are
explanations of facts.

W-00

9.

10.

11.

12.

13.

T J9 H U H T 40 T | T 10
TEET F S 4.5 § 3 T 30 TN A
affed 3.5 & | U YT 1 a4 € 2
(A) 4 (B) 152

(C) 15/4 (D) 6

¥ MOHAN & %< KMFYL %, @
COUNT & %< &

(A) AMSLR  (B) MSLAR
(C) MASRL (D) SAMLR

T ATHIAT A 3R B i 3T HT SIS 50 & |
5 99 qd AR T HT U 5/3 AT | A
3T B & A 31 &

(A) 30,20 (B) 35,15

(C) 38,12 (D) 40, 10

s a 1 3T TS () §, b F 3 (x) §RT
W%‘,Caﬂﬂﬁ(—)mraﬂaﬁmaﬁ?
D I 37 ST (+) &, @90 D 9 a 29 C 10

b2 F TH &

(A) 8 (B) 10

C) 12 (D) 14

FUIT ATHIF] 3T M-I W fa=m

AR A= U W W we w1 oG

FHITT

afirepeE-1 @ 9% iR off Wi @ g
IR 3% g H MU G o ST
Tohd & Al T @il § ARl ST Hehd
3T TP AN T W H T
M |

AfHHYE-I1 : T & IR & T1 H 3R
T ¥ g F PR Bl ¢, foRdr R
T TEoar & HROT &l | IR BT 6T
IR W I AR TR o @
TaTshaT ST TROTH |

FS:

(A) 3TRe-] SR 1 3HT & aeh & |

(B) ieeH-1 a% &, foheq atiiverem-II
TEHE |

(C) eI a% &, fobmq STTerer—I
TE

(D) ST & AR T B TR € |



14.

15.

16.

17.

18.

By which of the following proposition,
the proposition ‘some men are not
honest’ is contradicted ?

(A) All men are honest.

(B) Some men are honest.

(C) No men are honest.

(D) All of the above.

A stipulative definition is

(A) always true

(B) always false

(C) sometimes true sometimes false
(D) neither true nor false

Choose the appropriate alternative
given in the codes to replace the
question mark.

Examiner — Examinee, Pleader — Client,
Preceptor — ?
(A) Customer
(C) Perceiver

(B) Path-finder
(D) Disciple

If the statement ‘most of the students
are obedient’ is taken to be true, which
one of the following pair of statements
can be claimed to be true ?

I.  All obedient persons are students.
II. All students are obedient.

III. Some students are obedient.

IV. Some students are not disobedient.
Codes :

(A) 1&I1I (B) I &III
(C) M&IV (D) H&IV
Choose the right code :

A deductive argument claims that :

I.  The conclusion does not claim
something more than that which is
contained in the premises.

II. The conclusion is supported by the
premise/premises conclusively.

III. If the conclusion is false, then
premise/premises may be either
true or false.

IV. If premise/combination of premises
is true, then conclusion must be
true.

Codes :

(A) TandII

(C) MandII

(B) TandIII
(D) All the above
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On the basis of the data given in the following table, give answers to questions from 19 to 24 :

Government Expenditures on Social Services
(As percent of total expenditure)

Sl. No. Items 2007-08 | 2008-09 | 2009-10 | 2010-11
Social Services 11.06 12.94 13.06 14.02
(a) | Education, sports & youth affairs 4.02 4.04 3.96 4.46
(b) | Health & family welfare 2.05 1.91 1.90 2.03
(c) | Water supply, housing, etc. 2.02 2.31 2.20 2.27
(d) Information & broadcasting 0.22 0.22 0.20 0.22
(e) | Welfare to SC/ST & OBC 0.36 0.35 0.41 0.63
(f) | Labour and employment 0.27 0.27 0.22 0.25
(2) Social welfare & nutrition 0.82 0.72 0.79 1.06
(h) | North-eastern areas 0.00 1.56 1.50 1.75
(1) Other social services 1.29 1.55 1.87 1.34
Total Government expenditure 100.00 100.00 100.00 100.00

19. How many activities in the social services are there where the expenditure has been less than
5 percent of the total expenditures incurred on the social services in 2008-09 ?

(A) One (B) Three
(C) Five (D) All the above
20. In which year, the expenditures on the social services have increased at the highest rate ?
(A) 2007-08 (B) 2008-09
(C) 2009-10 (D) 2010-11

21. Which of the following activities remains almost stagnant in terms of share of
expenditures ?

(A) North-eastern areas (B) Welfare to SC/ST & OBC
(C) Information & broadcasting (D) Social welfare and nutrition

22. Which of the following item’s expenditure share is almost equal to the remaining three items in
the given years ?
(A) Information & broadcasting (B) Welfare to SC/ST and OBC
(C) Labour and employment (D) Social welfare & nutrition

23. Which of the following items of social services has registered the highest rate of increase in
expenditures during 2007-08 to 2010-11 ?
(A) Education, sports & youth affairs (B) Welfare to SC/ST & OBC
(C) Social welfare & nutrition (D) Overall social services

24. Which of the following items has registered the highest rate of decline in terms of
expenditure during 2007-08 to 2009-10 ?
(A) Labour and employment (B) Health & family welfare
(C) Social welfare & nutrition (D) Education, sports & youth affairs

W-00 6
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wH g 2007-08 | 2008-09 | 2009-10 | 2010-11
=T
TS HaTg 11.06 12.94 13.06 14.02
(a) | Toremr, @et A o wA 4.02 4.04 3.96 4.46
(b) | T TAT URAR FHeATIT 2.05 1.91 1.90 2.03
(c) | STt emgfa, emmarg amig 2.02 231 2.20 2.27
(d) go-T T JERT 0.22 0.22 0.20 0.22
(¢) | o afaa Shfa/senia ua Tse o #1|  0.36 0.35 0.41 0.63
Bl
(f) | &\ T IR 0.27 0.27 0.22 0.25
(g) | WIS FHoamoT qET Iy 0.82 0.72 0.79 1.06
(h) | SUEE & 0.00 1.56 1.50 1.75
DEREEELEEE 1.29 1.55 1.87 1.34
FeT TWHR T 100.00 | 100.00 | 100.00 | 100.00
19. TEST st § U foha HE-Femd € S g 2008-09 H THST HaT3T W §U el @ H 5 UTwrd

20.

21.

22.

23.

24.

T A G g 2

(A) T (B) d

(€) = (D) Sget wt

TS HaTS W 77 [ 99 H STaaH ¥ W gl § 2

(A) 2007-08 (B) 2008-09

(C) 2009-10 (D) 2010-11

=9 ¥ & #f gt ¥ FefeiEd 4 @ &iF 9 B o @R W E 2

(A) IR & (B) 3T, STfa/SHeTia ¥ 37 fUse o T seamr
(C) g q&T THR (D) IS HeAToT qT groT

fAfeIRad o ¥ M O 7 1 7 F1 00 ST M0 aut § 99 T FET o ST SRR § 2

(A) g qAT TR (B) 3T, STIfa/SsTi 31X 31 fUse ant 1 shoamor
(C) o19 3R IR (D) ST FHedToT AR Ty

TS Farett i Efafed 8 ¥ wF °@ 931 5 99 2007-08 F 2010-11 % 3R 79 § S(feehan ghg

RAETEE ?

(A) Tmet, @t qn o e

(B) 3T STIa/SH 37 3T TUSe o 1 Heamr
(C) TS SHeamT S Tror

(D) EHY FHS FeTd

frfafaa § 9 i € 931 § a9 2007-08 § 2009-10 % 3 = | 31fyhad e e u 78 § 2
(A) =5 3T ISR (B) @A 3 uRar et
(C) AN HeamT T quor (D) Torem, @1 31X Far A

W-00 7 P.T.O.



25.

26.

27.

28.

29.

30.

31.

32.

33.

ALU stands for

(A) American Logic Unit
(B) Alternate Local Unit
(C) Alternating Logic Unit
(D) Arithmetic Logic Unit

A Personal Computer uses a number of
chips mounted on a circuit board called
(A) Microprocessor

(B) System Board

(C) Daughter Board

(D) Mother Board

Computer Virus is a
(A) Hardware (B) Bacteria
(C) Software (D) None of these

Which one of the following is correct ?
(A) (17)10=(17)16

(B) (17)10:(17)8

(©) (17),,=(10111),

(D) (17),,=(10001),

The file extension of MS-Word
document in Office 2007 is

(A) .pdf (B) .doc
(C) .docx (D) .txt

is a protocol used by e-mail
clients to download e-mails to your

computer.
(A) TCP (B) FTP
(C) SMTP (D) POP

Which of the following is a source of
methane ?

(A) Wetlands

(B) Foam Industry

(C) Thermal Power Plants

(D) Cement Industry

‘Minamata disaster’ in Japan was
caused by pollution due to

(A) Lead (B) Mercury

(C) Cadmium (D) Zinc

Biomagnification means increase in the

(A) concentration of pollutants in
living organisms

(B) number of species

(C) size of living organisms

(D) biomass
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34.
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36.

37.

38.

39.

Nagoya Protocol is related to
(A) Climate change

(B) Ozone depletion

(C) Hazardous waste

(D) Biodiversity

The second most important source after
fossil fuels contributing to India’s
energy needs is

(A) Solar energy

(B) Nuclear energy

(C) Hydropower

(D) Wind energy

In case of earthquakes, an increase of

magnitude 1 on Richter Scale implies

(A) a ten-fold increase in the
amplitude of seismic waves.

(B) a ten-fold increase in the energy
of the seismic waves.

(C) two-fold increase in the amplitude
of seismic waves.

(D) two-fold increase in the energy of
seismic waves.

Which of the following is not a measure
of Human Development Index ?

(A) Literacy Rate

(B) Gross Enrolment

(C) Sex Ratio

(D) Life Expectancy

India has the highest number of students
in colleges after

(A) the UK. (B) the U.S.A.

(C) Australia (D) Canada

Which of the following statement(s)
is/are not correct about the Attorney
General of India ?

1.  The President appoints a person,
who is qualified to be a Judge of a
High Court, to be the Attorney
General of India.

2. He has the right of audience in all
the Courts of the country.

3. He has the right to take part in the
proceedings of the Lok Sabha and
the Rajya Sabha.

4.  He has a fixed tenure.

Select the correct answer from the

codes given below :

Codes :
(A) land4 (B) 2,3and4
(C) 3and4 (D) 3 only
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40. Which of the following prefix President 40. AT YOS TEST YRAT ST o

Pranab Mukherjee  desires to be R ST e T T TR oot
discontinued while interacting with Indian e d Fefefea s @ s @ t@} IERISES
dignitaries as well as in official notings ? a;r TN GHT T 9Rd § 2

1. His Excellency 2. Mahamahim . &S et 2. TemREn

3. Hon’ble 4. Shri/Smt. T 4. Syl

Select the correct answer from the ﬁ%%@maﬁ@%m@aﬁwaﬁrw

codes given below : FITT

Codes : T

41. Which of the following can be done 41. TodiE e g § ﬁmﬁf@q o9

under conditions of financial emergency ? ST T HehaT £ 9

1. State Legislative Assemblies can be 1. 5T foum et # 9O Rear S
abolished.

2. Central Government can acquire 5 @iqil{, B N
control over the budget and T Y
expenditure of States. .

3. Salaries of the Judges of the High 3. 39 A AN oo @ 5
Courts and the Supreme Court can m%ﬂ*eﬁ%émﬁw%mmw‘% '
be reduced. 4. lﬁ‘aﬁﬁﬁh‘ 3q5|i a7_ ?ﬂﬁw Eﬁ IEKIEG

4. Right to Constitutional Remedies TohaT ST Wb © |
can be suspended. i ST T e & VAT W FEl ST B TT

Select the correct answer from the HITTT

codes given below : BT :

Codes : (A) 1,233 (B) 2,33R4

(A) 1,2and3 (B) 2,3 and4 (©) 1 32 (D) 2 T3

(C) land2 (D) 2and3
42. Match List — I with List — II and select 42. gt — 1 0 ol — 11 & 9 Gt Hifg

the correct answer from the codes given 3R I fSU 7T is & WA § Tel 3T B
below : I HIT
a) Poverty i id-day ﬁ*ii'—lﬁT
Reduction Meals @ S = =0 ﬁ:rg@ftﬁa
Programme 2 .
(b) Human (i) Indira Awas (b) g (i) ﬁ
Development Yojana
Scheme (IAY) (STETATE)
(c) Social (iii) National Old (c) THISTR WerEel (i) LA
Assistance Age Pension ST FETIET YT
Scheme (NOAP) (TT.3TT )
(d) Minimum (iv) MNREGA (d) =g (iv) 7am
Need Scheme ST AT
Codes : Hie:
@ b © (@ @ O © (@
A) (v) () (i) (i) @) (v () (i) (i)
B) (i) (i) (v) (i) ®) (i) (i) (v) ()
(©) (i) (v) (1) (i) (C) (i) (@v) (1) (i)
(D) (v) @) () (@) (D) Gv) (i) () (@)
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43.

44.

45.

46.

47.

For an efficient and durable learning,
learner should have

(A)
(B)
©)
(D)

ability to learn only

requisite level of motivation only
opportunities to learn only
of ability and

desired level

motivation

Classroom communication must be
(A)
(B)
©)
(D)

Teacher centric
Student centric
General centric

Textbook centric

The best method of teaching is to
(A)
(B)
©
(D)

impart information

ask students to read books

suggest good reference material
and

initiate a discussion

participate in it

Interaction inside the classroom should
generate

(A)
(B)
©)
(D)

Argument
Information
Ideas

Controversy

“Spare the rod and spoil the child”,
gives the message that

(A) punishment in the class should be
banned.

(B) corporal punishment is not
acceptable.

(C) undesirable behaviour must be
punished.

(D) children should be beaten with
rods.

W-00

11

43.

44.

45.

46.

47.

Tl SR TR e wevr & ferw ferem
TEUThAT o UT T H1eT

(A) haet ToTeT UTeT e i Frvrar

(B) A 3B I 3TURTT WX

(C) hareT ToTeTT TR o 37T

(D) FIAT 3R IROM HT ST WX

HeqT GUTOT BT =MeT
(A) Tt Hish
(B) B Hi5H

(C) M= Hiseh

(D) UIed TS hiseh

3T T FATTH oM &

(A) SR U&H HET |

(B) ST ¥ T& Tg+ % feIq e |

(C) 373t T=Y | 1 eI <7 |

(D) & URET A P Teed HEAT IR
ITH A6 @ |

T H WO a5 ¥ & /W FT 37T
TqMET 2

(A) Teb-forereh

(B) =T

(C) To=R

(D) foa=

‘T T ThT e i SIS @ S &

(A) R H T W TP o ST AT |
(B) ¥R <& wihd Fal & |

(C) 3Taied R W 5 73 I 91 |
(D) S=ai I B § el ST AT |

P.T.O.



48.

49.

50.

51.

The type of communication that the
teacher has in the classroom, is termed
as

(A)
(B)
©
(D)

Interpersonal
Mass communication
Group communication

Face-to-face communication

Which one of the following is an
indication of the quality of a research
journal ?

(A) Impact factor
(B) h-index

(C) g-index

(D) 110-index

Good ‘research ethics’ means

(A) Not disclosing the holdings of
shares/stocks in a company that
sponsors your research.

(B) Assigning a particular research
problem to one Ph.D./research

student only.

(C) Discussing with your colleagues
confidential data from a research
paper that you are reviewing for

an academic journal.

(D)

Submitting the same research
manuscript for publishing in more
than one journal.

Which of the following sampling
methods is based on probability ?

(A)
(B)
©)
(D)

Convenience sampling
Quota sampling
Judgement sampling

Stratified sampling

W-00

12

48.

49.

50.

S1.

el | foreteh 3 TUTOT HI Fedt &
(A) SIS

(B) SH-EER

(C) ek T

(D) 3THH-TEA FwoT

forat wmrer freht Bt T[uTeRT 1 FETEd o
Y B GIF E ?

(A) T TTOTR
(B) wH-EsHH
(C) Si-Es™
(D) il0-Se

ek Iy Afdsar @ aifurg &
(A) SO oY WIS S § iR

IR Bl Uehe T HET |

ol TRl O Sl/AY BT B el
T 9Ty SHET GO |

ol Siferer afsrenr st gHiem HE &
foTT sty o3 § Mo stiehel oY 3T
TeAlma 9 == T |

T B WY qigft B U 9 e
afeRretl § WIS B % forw s
FHET |

(B)

©)

(D)

fafafed & ¥ ®F G Aiaes qomet

AT T TR & 92
(A) e gfae=t
(B) HIeT UfcTser
(C) i micest
(D) TREF wfaser




52.

53.

54.

Which one of the following references
1s written according to American
Psychological =~ Association  (APA)
format ?

(A) Sharma, V. (2010). Fundamentals
of Computer Science.

New Delhi : Tata McGraw Hill

Sharma, V. 2010. Fundamentals
of Computer Science.

New Delhi : Tata McGraw Hill

Sharma.V. 2010. Fundamentals of
Computer Science,

New Delhi : Tata McGraw Hill

Sharma, V. (2010), Fundamentals
of Computer Science,

New Delhi : Tata McGraw Hill

(B)

©

(D)

Arrange the following steps of research
in correct sequence :

1. Identification of research problem
2. Listing of research objectives

3. Collection of data

4. Methodology

5. Data analysis

6. Results and discussion

(A) 1-2-3-4-5-6

B) 1-2-4-3-5-6

(C) 2-1-3-4-5-6
D) 2-1-4-3-5-6

Identify the incorrect statement :

(A) A hypothesis is made on the basis
of limited evidence as a starting
point for further investigations.

(B) A hypothesis is a basis for

reasoning without any assumption

of its truth.

Hypothesis is a  proposed
explanation for a phenomenon.

©)
(D)

Scientific ~ hypothesis is a
scientific theory.
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52.

53.

54.

fffas & @ &9 9 =<9 Wi
TSR G (THT) 3 SR ford e & 2
(A) vEI, 4. (2010). ®USHTGE 3H
FIIT e,

ImE, St 2010, FUSHECH S
FHTET AT

T2 oot « 2rer " feet

ML A 2010, wUSHREH 3T
FHI A,

T2 oot « 2rer " feet

M, 4 (2010), wUSHECE SATE

FHH TG,
7 feoott « 2rer B fea

(B)
©)

(D)

vy it frfefaa st o @@l w9 o

a:aﬁa?rﬁ

Iy HHT T ERoT

MY 32T Bl GG FEAT

ST GURT

FHIEVOTA

21T fageryor

6. TROMH 3T ==l

(A 1-2-3-4-

B) 1-2-4-3-
4 —
3_

A A

(C) 2-1-3

6
6
6
(D) 2-1-4 6

5—
5—
5 —
5—

TG FUT ! TETH BT

(A) @M R erauy fHy s % fow
IR €9 9 g | & ER
T qReheT ot STt & |

IReheTT T i fomdlt e o fom
ek o AEN B & |

UReheq T fRdl =21 o udTied
TWEHT ¢ |

o o o o
3Tk GRBeYAT Ueh I3 h THGT<]

T

(B)

©)

(D)

P.T.O.



Read the following passage carefully and answer the questions (55 to 60) :

The popular view of towns and cities in developing countries and of urbanization process is
that despite the benefits and comforts it brings, the emergence of such cities connotes
environmental degradation, generation of slums and squatters, urban poverty, unemployment,
crimes, lawlessness, traffic chaos etc. But what is the reality ? Given the unprecedental increase
in urban population over the last 50 years from 300 million in 1950 to 2 billion in 2000 in
developing countries, the wonder really is how well the world has coped, and not how badly.

In general, the urban quality of life has improved in terms of availability of water and
sanitation, power, health and education, communication and transport. By way of illustration, a
large number of urban residents have been provided with improved water in urban areas in
Asia’s largest countries such as China, India, Indonesia and Philippines. Despite that, the access
to improved water in terms of percentage of total urban population seems to have declined
during the last decade of 20™ century, though in absolute numbers, millions of additional
urbanites, have been provided improved services. These countries have made significant
progress in the provision of sanitation services too, together, providing for an additional
population of more than 293 million citizens within a decade (1990-2000). These improvements
must be viewed against the backdrop of rapidly increasing urban population, fiscal crunch and
strained human resources and efficient and quality-oriented public management.

55. The popular view about the process of urbanization in developing countries is
(A) Positive (B) Negative
(C) Neutral (D) Unspecified

56. The average annual increase in the number of urbanites in developing countries, from 1950
to 2000 A.D. was close to
(A) 30 million (B) 40 million
(C) 50 million (D) 60 million

57. The reality of urbanization is reflected in
(A) How well the situation has been managed.
(B) How badly the situation has gone out of control.
(C) How fast has been the tempo of urbanization.
(D) How fast the environment has degraded.

58. Which one of the following is not considered as an indicator of urban quality of life ?
(A) Tempo of urbanization (B) Provision of basic services
(C) Access to social amenities (D) All the above

59. The author in this passage has tried to focus on
(A) Extension of Knowledge
(B) Generation of Environmental Consciousness
(C) Analytical Reasoning
(D) Descriptive Statement

60. In the above passage, the author intends to state
(A) The hazards of the urban life (B) The sufferings of the urban life
(C) The awareness of human progress (D) The limits to growth
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fAfeiad =T i & ¥ U¢ 3R 55 9 60 T Tl A SW S :

Toenrareiict 3 # TR TR0 UiHaT § YRR 1 Jaferd greshiol $8 T8 YR H gl ¢ T aum
T SR G ured g o STesE 3 el & St ¥ TaieruiE ey, Tt siadl i) SAentsat
TEAT, T TS, SSTTRY, TR, 3RISTehdl 37 AT STeqae & Hohd [Held & | ek atershal
FNE 7 ARAD | TE TS § b foreraeticr 390 & fumet 50 ot § 9t S=E@ § a9 1950 F 300
faferam @ ¥ 2000 7% 2 e 96 & NI ¥4 9 g &1 & a5 F favd T g Re &l b
fepcT 3Test T | S0 T fohaT € |

YT &9 I I S i 06 § 5ol o1 STl 3R T & Wawy, fastetl, Tamee iy fore,
TOR 3R uEeT e &t gite § guR goTl ¢ | SIER0; URETE foener 39 S {6 =i, aRa,
TSARTAT 3R THeTaTe=q o Y&l & # STfershier fHafaal sl 3= STol Graend Sueted &1 &f T8 § | 389
Wzoﬁwﬁ%ﬁ@ﬁw%ﬁm%mﬁmﬁwﬁm%wwwwaﬁ
UGS | HH 3TE & | BTetiich 30 31T T § ¥ off@l Sifaiad Iedt fHanaat st 3~a sot gferems
YT BT I TS T |3¢f%¥ﬁﬁw@w@?ﬂaﬁﬁﬂm@?w@wﬁaﬁ% Wﬁwwﬁ
(1990-2000) 293 i & ifess AR & SAfaRed SHagE % T of Jamd Suetey <08 & | 37 Gl
% foug # Ost ¥ dgdt g e SHEE % R-ue, TR RS SR e qEe G qo

TUTEAT-3 @ -9 & Fe-eR foar ohal ST =1eq |

55. Taeprasiict I § STeehRoT UfehaT T Tefeid gieZehivl &

(A) HhRTcHE (B) BEINISIED
(C) e (D) M=
56. fosrraetict <9 W 1950 & 2000 TEN. T & ARG i ST T Jheg fohaeh e ot 2
(A) 30 et (B) 40 fiferm
(C) 50 Mfera= (D) 60 e

57. ITELIeh0T St Akl fatats erdl &
(A) Terfd =t frat oTest dXe & SFafed fwar T e |
(B) foifa bt W e ¥ =T G SR @l T ¥ |
(C)  VTedishor &t TR feel ot @I T |
(D) YAEROT § R ot @ fRmae e & |

58, THAfcIREd & | el I ST i ToTeT T gereh el AT Sl € 2
(A) YRAFTH AT . (B) YT FaeTl S U
(C) ST G-t 7 e (D) ST Tt

59. TEF A TH T | R fava W Hhsa A i uar o & 2
(A) T =1 foam
(B) TATERUIE TaT
(C) TormeiuoTeHe, TR
(D) AU 3T

60. ST TS H oiEeh T AR AT e & 2
(A) TR SHe i i (B) et St %t =
(C) TFE WA i STTEehd (D) foepre =t At
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